CHAPTER, \R

Q. @ Gowm toble 16.3 . Avgon Q0s s meutawiic ang |
M= 4ou = 40 (1.66[X10 ke ) = 6.64 X 107 &3
From equation 18.13

0= 3 Bmoews =4 (20x10702) (6,64 x15% fg ) (455 wisy = 4.16x10° B,

b) (N=NkeT = T= \’V P q.6x10%f _
(’ ’ ! Nke (WAs (2. ox1&%m? X385 YK) B2rK
{0 = o

P: .—A_ - N(.“‘;Skv\

A Nediisnn N\ L
=T A = Ymy (e )A

= 2{28x1.66X15*7R3) (400 mA) (5 0x18> ¢ ) /loxig? m*) = 136 x\a* Fa,

({ P: E = Q QW\V) chf?s‘fm
A A ot
chl'@ru._ _ PA - ?A _ (‘-OBX\OS ) (lox lc;;‘m") =14 Xlol‘(”/
st T amw) 2w 2 (31X1.66x16 7 g Y Goownss) S

0 = 2 * |
() tms - ”—_‘,‘_Q%T , 26 zAvg becowes D{oulo{€7{~

. —'-l. . e
da.). %Ava- -1_"Yn\)\r'ms = '\kwgogﬁmé"‘:\'\' L S0 Uyms becemes Eu\ms,nu
(c) ﬁ

= AR T (8 . The deveiy NA/ doeede  dhanye

because we keﬁp the uduwee (owstomt . So . A doesvit (thmzje,
21 K.w = %'Y\KT

(@) (0,€0) K= 3 CLomd) (81T pmed ) (293K = 340, T

) A= 4rlwr oy Y YE °.5X16' M dov Monatowiic gas

2 [ Y LOXLE® wa Sov  diatopit o aae
= 0. 5X\0™° m
p\]:N\(ﬂ = N_F o 01X oiseo Pa

, = 0,34 X0 w3
T (38x5® 3/ )oKk

\

-9
= , " = 3.07X{0 " m
43T (134X A ) (0.5 Xtot m >




(o) 6&\!-;:-' TJL:\Y\'\)V?:W\S = %_ 1)

N Pus«ameﬁammk) ~ hco M/
AV N N 4 X L661X\0*7 hagy /

) Epp= 2%eT = 2 (132X16P 5/ QOK) = 2.07x407" 3

25 0) € aioy = 2 st = 2 Q35T I/ (exxc?’ <) =124x10" 3

L) —mebl‘ =2 = -,-33E 2 (L38X\S® JAK) (6oook )
2 T Uyme -,_%!ﬂ- > vas ™ S X\ 6'?)(‘0,_,,‘&16——-_\7_“]0

/g
| CHAPTER |77
22 y= PV _ QxloxiehIlszoxisbw?) K
RY T (B3 3/md K) (392 K ) oo m

M(H0) = (\*\rle) e = 1R W
Tue winss of e Steom M = (010 wol )(1 9 afmel) = L3 q
D oS Stepm -—7. 100°C Watev

Q= ~MLy = - (L2%16 den) (22.6X10° 3Hey) = 4068 3
® loo"cwater - o° ¢ woter

B = MeaT = ~ Qana™ k) @203 Ay K) (1ov0) = ~ 1542 3
@ 0°c water 5 o [ 8

U= -MLa = - (Lario® ) (B30T Ik ) = ~ 590.4 3
B 0% te - -20C 1

Q‘k — MCMAT = —Ulgx\o'}fag)(’)_o% 3 Meg KY(20°W) = -15.243

Q=B Qat QytBly = 5497 J



3%. B, = Mie Cre 6T = e he)2o90 Mg K yUoK) =296
=M Le = Condey) (332X165 3/Mey) = 33%00 3
&1, = Mia G &7 = (o) (Atte 37y 1) (2ok) = %3¢o3
= M Cac0T = My (200 374 <) (~S0 K) = - (@45000Tfhg)Ma,

=B+ Q.+, By =
(AS0803 (g ) MaL = 43976 3

MaL =073 &g
4 M= oV = (210 Ry /) (V)= @i Y3 e ) = o.516 fg.
the wumger € N, aas Mdecale M = 2°% 2%.9 mls

(Lx\afta_lml)
O 23K g0 » 99K qes

Q= MCp &T = (22.4ml) (29) 3 fwl KO (Mi~243K )
@ MK qos -5 77K bigad

Qo =MLy = - (o 2teky) 0qaX1° T/hy )

A= Qv = - 342 X053

B > - A
1o Eam = TM U = 3 (2X1LE1XG2 1) (D00 5™ = iyicRy
|

\ B

= = 3ol X103
2% 1661 X106 faey

6'\:\,‘: N éAv% = Q’)‘b\x\am‘sj C (2\\17)(\6-11 S) = 24 X
L) Qeﬁ\q =W+ = '—")MST CeoeI= 200 X

Etmew = eﬂ,o\d.*'ég.g,‘ = 4453
Cavy = Etwn/N = Lag7 X w0 T T Vay® S'?-f:m = Q44 m/s



52
@ EF=pA = (Lam¥ Lolzx10” ba/atwm ) (Tix 0.08m ) = 6lioN

L) 6VLo N m the oppegite &i rection

() W= ~Fax = - (BUoN)(WO em) =~ 613
() Wy = ~W = 60T

@) ATy =\WN+EL

O= AT -W = 14674+ 6(T =Re? I
%6 . the et was tvomsfewed €o 4ha ARS
=Y M"S%_ T =2K .= Rdem @

(W n=28_ - o °
2y 7w = 01786 el

Uiz YRT (001986 wel (2.2 3 el K (243K :-\4—30)(\63’ >

P, B X Lol3x\F Pa ‘ "

AV 2V, = 4290 ca®

50banc = P, =Pa }—,’i-al\}\ 5T T 2 3T =3 5203k 874K

LY =+ Co AT = (01986 mel ) (29,1  /mel KO (_T-L'T\) =26503
LC) Na=\3

_?_}_“; Pa 5 P= 293K

— 2o o otm =
T, Ta T:.? %quX 3 Lo atm

("b B=nCL AT = (0,M6wel ) (203 Ifmel K (293K~ 371K) =-21803
90 2\EOT Heak was W@emi -Qy(mq e 9us |

P (tw)
() 5’\[ \ .
‘T 3
J; — % ¢ =>\ ()
O (oo 200 30 4po S0



